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  L.M.D20212020
 2مقياس: الاقتصاد الجزئي

 في الفترة القصيرة. الإنتاجتكاليف حول  (06الواجب الالكتروني رقم )حل 
▪ 01   

MC ACV ACF CF CV CT Q 

- - - 70 0 70 0 

30 30 70 70 30 100 1 

10 20 35 70 40 110 2 

20 20 23.33 70 60 130 3 

30 22.5 17.5 70 90 160 4 

40 26 14 70 130 200 5 

50 30 11.66 70 180 250 6 

70 35.5 10 70 250 320 7 
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▪ 02+15Q+2    26Q-3=QCT 
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 ومنه   , 
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 KP     /      K=5=1 00   سعر راس المال هو:  و LP= 200:المعطيات03 ▪
-  

MC CT CV CF LMP LAP Q L 

- 700 200 500 10 10 10 1 

14.28 900 400 500 14 12 24 2 

13.33 1100 600 500 15 13 39 3 

15.38 1300 800 500 13 13 52 4 

20 1500 1000 500 10 12.4 62 5 

50 1700 1200 500 4 11 66 6 

- 1900 1400 500 0 9.42 66 7 
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 اسرة المقياس


